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- SM 86.2.18 M 3,56

Phase resistance | 0.74Ohm
g Phase inductance 3mH
‘W | Phase current A
E unipolar . 35A
§ Phase current A
@ |bipor - .. |54
lsolation class F F
Stap angle 18 £3%
Holding torque 3 Nm
Detend torque 0,05 N
Max.1,8°
%‘ Start frequency 1kHz
Q Naie .
N | Operating trequency 10k
s
E Rotor inertia 11,3 kgom?®
8 Bearing
2 | thrustiosd 180N -
Baaring
cverhang load 20N
Weight 285kg
Max. operating 0
temparature no'c
measured with:
typical values
SE 800.06.60
_____ - ~— SE 800.06.120
nosannore Without boost
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Picture 2 Acceieration { with axt. ratio J e )
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Picture 3 Max. current consumption (from power-supply )
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" Picture 4 Max. start - stop - torque (with ext. ratio J ext. )
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SM 86.2.18 M 4,6 [Nm]
32
Fhass resistancs - 0.48 Ohm
2]
g Phasa inductance 15mH 24 e
w | Phase current A i “\'.‘\ = ~t=
. unipolar 45A . = =4 [
Phase current A ' =~ U=120VDC
L |bipolar 8SA < 4 1=6,5APh
ey
lsolation class F F 08 LT | u=60VDC
| 6,5 APH.
Step angle 18° £3%
' 0 4 B8 12 168 20 24 28 [kHz] 800 step/rev.
Holding torque 3Nm 0 2 4 & 8 10 12 14 [kHz] 400 step/rev.
0 300 600 900 1200 1500 1800 2100 {min
Detend torque 0,05 N ms] Plcture 2 Acceleration (with ext. ratio J e, )
g Max.18° e % A desi=2,8 kgem?
Start frequency . :
= Mac 18 12kHz //
g Operating frequency & , 7 » Jaa=1,3 kgom?
=
@« | Rotor inartia 1 me Z ya
.§ 8 B kg0 7/ = Joxt =26 kgom?
Boaririg . 40 v L~
= |thrustioad 180N — 7 ] Ju =18 kgom?
Bearl A T Jot =0 kgem
overhang load 280N 20 D i moke
AT Tt ] Jea=0kgem?
Waight 285kg l-"
Max, operating 110°C 0 4 8 .12 18 20 24 28 [kHz] B0O'step/rev.
ternparature 0 2 4 8 8 t0 12 14 Ekl-_lz]1 400 step/rev.
. D 300 800 900 1200 1500 1800 200 ‘[min”]

Picture 3 Max. current consumption (from power-supply }
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Picture 1 Maximum operating torque




Picture 1 Maximum operating torque

SM 86.2.18 M 6 - {Nm]
32
Phase resistance 0.38 Ohm
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‘@ | Phase inductance 1mH 24 = =
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w | Phass curfent A lea o . B )
-% _ unipolar : 16 . < I~ 1 U=120VDC
Phase currént A P | =8,4 AlPh
i | bipolar ~ 844 =
U= 80 VDG
Isolation class F . F _ 08 : - . . F 1 =84 APh
Step angle 18" £3%

! . : |
0 4 8 12 16 20 24 28 [kHz] 800 step/rev.
4

Holding torque 3Nm 0 2 & 8 10 12 14 {ld-lz_]14mstop/r¢v.
O 300 600 900 200 1500 1800 2100 [min”]
Detand torque 1005 Nm s Picture 2 Acceleration {with ext. ratio J ue. )
o Max.1,8° - )
@ | Start frequency ThHz 64 :
O a1 ' A Jee=28 kgor?
Opérating frequency | 13 kHz
g 48 7T Jua= 2,6 kgom?
@ | Rotor inertia 1,3 kgom® Lt
-§ : : oA Jua= 1,3 kgom” -
Bearing ] 3z g Lt .
= | thrustload 180N = ] 1,3 kgom?
Bearing AN o L :
overhang load 20N 16 e < Joa=0kgom?
' AT Jeaw0 kgom®
Weight 285ky = ] !
Max. operating 10°G ] 4 8 12 18 20 24 28 [kHz] 800 step/rev.
temperature 0 2 4 ] 8 0 12 14 [ki-lz]1400mplrcv.
0 300 600 900 1200 1500 1800 2100 [min”]
Picture 3 Max. current consumption { from power-supply )
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o 4 8 12 18 20 24 23 [kHz] 800step/rev.
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Picture 4 Max. start - stop - Torque ( with ext. ratio J e,
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0 08 16 24 32 40 48 56 [kHz] 800 step/rev.
0o 04 08 12 1.6 20 24 28 [kHz] 400step/rev.



